
Soustraire des fractions mixtes négatives (E)

Nom: Date: Note:

Calculez chaque différence.

1. (−323) − 414 = − = − = =

2. (−156) − 545 = − = − = =

3. (−315) − (−534) = − = − = =

4. (−423) − 212 = − = − = =

5. (−513) − (−334) = − = − = =

6. (−123) − (−335) = − = − = =

7. (−112) − (−313) = − = − = =

8. (−445) −
1
2 = − = − = =

9. (−415) − (−114) = − = − = =

10. (−135) − 416 = − = − = =
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Soustraire des fractions mixtes négatives (E) Réponses

Nom: Date: Note:

Calculez chaque différence.

1. (−323) − 414 = (−113 ) −
17
4 = (−4412) −

51
12 = (−9512) = (−71112)

2. (−156) − 545 = (−116 ) −
29
5 = (−5530) −

174
30 = (−22930 ) = (−71930)

3. (−315) − (−534) = (−165 ) − (−234 ) = (−6420) − (−11520 ) = 51
20 = 21120

4. (−423) − 212 = (−143 ) −
5
2 = (−286 ) −

15
6 = (−436 ) = (−716)

5. (−513) − (−334) = (−163 ) − (−154 ) = (−6412) − (−4512) = (−1912) = (−1 712)

6. (−123) − (−335) = (−53) − (−185 ) = (−2515) − (−5415) = 29
15 = 11415

7. (−112) − (−313) = (−32) − (−103 ) = (−96) − (−206 ) = 11
6 = 156

8. (−445) −
1
2 = (−245 ) −

1
2 = (−4810) −

5
10 = (−5310) = (−5 310)

9. (−415) − (−114) = (−215 ) − (−54) = (−8420) − (−2520) = (−5920) = (−21920)

10. (−135) − 416 = (−85) −
25
6 = (−4830) −

125
30 = (−17330 ) = (−52330)
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